

3	hs	79	Adams, Dan		38.487	38.138	37.048+1	37.264	36.839+1				37.264
													+0.094
4	hs	94	Hoffman, Scott		39.883+2	38.350	38.528	37.683	37.446				37.446
													+0.182
5	hs	44	Paterson, Gordon		54.935	49.700	46.610	48.603	46.272				46.272
													+8.826
1T	stf	15	Holzer, Stephen		38.090+1	37.325+1	37.067	37.088	37.194				37.067
													[-]0.817
2	stf	115	Hinzman, Jordan		39.038	39.772+2	38.490	38.161+1	37.884				37.884
													+0.817
1T	sts	16	Krom, John		38.979+1	38.457	37.986	38.744+1	37.797				37.797
													[-]0.202
2T	sts	3	Peddy, John		39.933	39.316	38.871	38.057	37.999				37.999
													+0.202
3	sts	26	Banks, Joseph		40.688+dnf	38.194+4	37.914+1	38.184	39.253+dnf				38.184
													+0.185
4	sts	126	Banks, Sam		40.417	41.501+1	40.302	39.590	40.105				39.590
													+1.406
1T	stx	21	Tarabay, Houssam		43.443+2	35.712+dnf	37.054+dnf	36.584	36.458				36.458
													[-]1.477
2T	stx	77	Barden, Travis		40.850	38.739	38.191	38.031	37.935				37.935
													+1.477
3	stx	25	Dover, Mike		42.215	42.055	39.880	39.964	38.201				38.201
													+0.266
4	stx	88	Nguyen, Brian (Kenny)		43.681+dnf	999.999+off	999.999+off	999.999+off	41.449	40.609	38.964		38.964
													+0.763
5	stx	69	Morrow, Donald		42.246	41.080	40.721	40.532	40.280+1				40.532

3	cp	511	Inskip, Mindy		39.728	39.560	38.948+1	39.015+1	38.435				38.435
													+1.632
1	fp	911	Muelhaupt, Engelbert		41.401+off	37.223+2	35.626+1	35.585	35.651				35.585
													[-]5.251
2	fp	89	Helton, Steven		43.530	40.836	41.232	41.369	41.177				40.836
													+5.251
1	smf	426	Wilmoth, Ricky		49.409	43.179	999.999+off	42.232+1	41.951				41.951
													[-]2.427
2	smf	320	Cook, Scott		59.446	62.037	47.439	45.343	44.378				44.378
													+2.427
1	sm	14	Rumberg, Owen	Gold	999.999+off	41.771	40.119	999.999+off	39.907				39.907
													[-]0.566
2	sm	10	Rumberg, Taylor	Gold	41.948	42.691+1	41.198	40.616	40.473				40.473
													+0.566
3	sm	74	Willis, Alex		42.531+1	40.809+2	41.374+1	39.821+2	40.481				40.481
													+0.008
4	sm	36	Bassett, Henry		43.998	41.591	41.148	41.024	41.156+1				41.024
													+0.543
5	sm	50	Bishop, Russell	Blk	44.895+1	999.999+off	41.936	56.570+1	41.815	40.282+1			41.815
													+0.791
6	sm	29	Merriman, Justin		46.356	42.747+1	41.894	50.044+dnf	42.195				41.894
													+0.079
7	sm	505	Baldwin, Dan	Blk	51.000+dnf	48.197+dnf	47.995	45.649	44.687				44.687
													+2.793
1	ssm	67	Corwin, William		39.756	39.272	38.866	38.234	38.335				38.234
													-
1	em	189	Cooley, Bernard		35.442	34.791+1	34.779	35.563	34.662				34.662

Pax Time Results
- autocross1 - Mon 03-30-2015
Timed Entries: 97

Pax Pos.	Pos.	Class	#	Driver	Car Model	Total	Factor	Pax Time	Diff.	From 1st
1	1	hs	64	Chenery, Jeff	Honda Civic	36.663	*0.796	29.183	0.000	0.000
2	2	hs	49	Carr, James	Honda Civic	37.170	*0.796	29.587	0.404	0.404
3	3	hs	79	Adams, Dan	Ford Fiesta ST	37.264	*0.796	29.662	0.075	0.479
4	1	stf	15	Holzer, Stephen	Acura Rxs-S	37.067	*0.801	29.690	0.028	0.507
5	4	hs	94	Hoffman, Scott	Honda Civic Si	37.446	*0.796	29.807	0.117	0.624
6	1	cs	130	Burgh, Stuart	Porsche Boxster	37.084	*0.814	30.186	0.379	1.003
7	2	cs	19	Ogburn, David	Scion Fr-S	37.145	*0.814	30.236	0.050	1.053
8	1	bs	18	Sklyarevsky, George	14 STI	36.653	*0.826	30.275	0.039	1.092
9	1	as	45	Harrison, Robert	Chevrolet Corvette	36.527	*0.829	30.280	0.005	1.097
10	1	stx	21	Tarabay, Houssam	Mitsubishi evolution IX	36.458	*0.831	30.296	0.016	1.113
11	2	stf	115	Hinzman, Jordan	Acura Rxs-S	37.884	*0.801	30.345	0.049	1.162
12	1	stu	85	De Moraes, Ricardo	BMW M3	36.201	*0.844	30.553	0.208	1.370
13	1	csp	39	Aro, Tim	Mazda Miata	35.705	*0.861	30.742	0.189	1.559
14	3	cs	91	Stanley, Ryan	Mazda Mx-5	37.919	*0.814	30.866	0.124	1.683
15	1	es	57	Hawkins, Lonny	Miata	38.257	*0.808	30.911	0.045	1.728
16	1	sts	16	Krom, John	Mazda Miata	37.797	*0.828	31.295	0.384	2.112
17	1	fp	911	Muelhaupt, Engelbert	Porsche 911	35.585	*0.880	31.314	0.019	2.131
18	1	fs	83	Dechent, Jonathan	BMW M3	38.662	*0.810	31.316	0.002	2.133
19	2	sts	3	Peddy, John	Mazda Miata 1991	37.999	*0.828	31.463	0.147	2.280
20	2	stx	77	Barden, Travis	Subaru BRZ	37.935	*0.831	31.524	0.061	2.341
21	3	sts	26	Banks, Joseph	Mazda Miata	38.184	*0.828	31.616	0.092	2.433
22	1	ds	33	Zacherle, Matt	09 Mini Cooper JCW	39.054	*0.812	31.711	0.095	2.528
23	1	cp	51	Inskeep, Paul	Mercur Xr4ti	36.712	*0.864	31.719	0.008	2.536
24	3	stx	25	Dover, Mike	Scion FRS	38.201	*0.831	31.745	0.026	2.562
25	2	cp	515	Inskeep, Pat	Mercur XR4Ti	36.803	*0.864	31.797	0.052	2.614
26	2	fs	65	Thomas, Bill	Chevrolet Camaro Z-28	39.262	*0.810	31.802	0.005	2.619

27	3	fs	73	Rembold, Matt	BMW 330i	39.315	*0.810	31.845	0.043	2.662
28	1	nas p	212	Daniel, Rabie	Mitsubishi evolution IX	36.819	*0.865	31.848	0.003	2.665
29	1	em	189	Cooley, Bernard	Fiat 600	34.662	*0.922	31.958	0.110	2.775
30	1	gs	37	Shifflett, Aaron	Hyundai Veloster Turbo	39.759	*0.806	32.045	0.087	2.862
31	2	es	30	Dejarnette, John	92 Miata	39.778	*0.808	32.140	0.095	2.957
32	1	asp	38	Hebert, Daniel	Mitsubishi Evolution VIII	37.299	*0.865	32.263	0.123	3.080
33	4	stx	88	Nguyen, Brian (Kenny)	Scion FRS	38.964	*0.831	32.379	0.116	3.196
34	4	sts	126	Banks, Sam	Mazda Miata 1990	39.590	*0.828	32.780	0.401	3.597
35	1	km	76	Churchill, James	Trackmagic TAG PRD Fireball125	34.341	*0.955	32.795	0.015	3.612
36	1	ss	43	McKenney, Elizabeth	Porsche Carrera	39.335	*0.835	32.844	0.049	3.661
37	3	es	301	Dejarnette, Richard	92 Miata	40.770	*0.808	32.942	0.098	3.759
38	4	fs	272	Irving, Shane	Ford Mustang	40.901	*0.810	33.129	0.187	3.946
39	2	nstu	42	Danil, Assaad	BMW M3	39.256	*0.844	33.132	0.003	3.949
40	3	ngs	31	Kemp, Daniel	Ford Focus ST	41.172	*0.806	33.184	0.052	4.001
41	4	nas p	211	Briesh salman, Wael	Mitsubishi evolution IX	38.384	*0.865	33.202	0.018	4.019
42	3	cp	511	Inskeep, Mindy	Mercur XR4Ti	38.435	*0.864	33.207	0.005	4.024
43	1	dsp	09	Miklos, Joseph	BMW 325is	38.958	*0.854	33.270	0.063	4.087
44	1	ssp	55	Murray, Bud	Chevrolet Corvette	38.288	*0.871	33.348	0.078	4.165
45	4	cs	99	Mcgregor, Kate	Scion FRS	41.152	*0.814	33.497	0.149	4.314
46	1	ssr	12	Fogleman, Kevin	Chevrolet Corvette Z06	39.008	*0.859	33.507	0.010	4.324
47	1	fsp	240	Bauske, Amanda	Volvo 245	40.033	*0.840	33.627	0.120	4.444
48	2	fsp	245	Bauske, Carl	Volvo 245	40.073	*0.840	33.661	0.034	4.478
49	5	stx	69	Morrow, Donald	Scion FRS	40.532	*0.831	33.682	0.021	4.499
50	6	stx	108	Johnson, Matt	Mazda Rx-8	40.551	*0.831	33.697	0.015	4.514
51	1	ssm	67	Corwin, William	Mazda Miata	38.234	*0.882	33.722	0.025	4.539
52	2	as	59	Cole, Dana	BMW M4	40.709	*0.829	33.747	0.025	4.564
53	2	dsp	61	Carr, Rick	Acura Integra	39.619	*0.854	33.834	0.087	4.651
54	2	gs	777	Salzman, Christopher	Hyundai Veloster TURBO	41.994	*0.806	33.847	0.013	4.664
55	1	esp	117	Bollhorst, Ethan	Ford Mustang Cobra	40.053	*0.849	34.005	0.158	4.822

56	2	stu	100	Martos, Christian	BMW M3	40.337	*0.84 4	34.044	0.039	4.861
57	5	nds	47	Vemckus, Andrew	03 WRX	42.215	*0.81 2	34.278	0.234	5.095
58	3	fsp	434	stafford III, Glenn	Nissan Sentra SE-R	40.898	*0.84 0	34.354	0.076	5.171
59	3	stu	32	Bressler, Ashton	95 Miata`	40.790	*0.84 4	34.426	0.072	5.243
60	6	nstf	567	Screeney, James	Honda Civic	43.104	*0.80 1	34.526	0.100	5.343
61	7	nstu	41	Daniel, Ousama	M3 BMW	41.061	*0.84 4	34.655	0.129	5.472
62	1	sm	14	Rumberg, Owen	BMW 325is	39.907	*0.87 0	34.719	0.064	5.536
63	1	str	23	Vickery, Aaron	Honda S2k	41.449	*0.83 8	34.734	0.015	5.551
64	2	ssp	66	Harmon, John	Chevrolet Corvette Z06	39.897	*0.87 1	34.750	0.016	5.567
65	8	ncs	75	Durante, Nick	Infiniti G35 Coupe	42.730	*0.81 4	34.782	0.032	5.599
66	2	bs	7	Sponseller, Paul	Porsche Cayman	42.158	*0.82 6	34.822	0.040	5.639
67	9	nsm	120	Cox, Joseph	Honda S2000	40.047	*0.87 0	34.840	0.018	5.657
68	4	es	151	Banks, Susan	Mazda 99 Miata	43.197	*0.80 8	34.903	0.063	5.720
69	3	gs	771	Salzman, Caroline	Hyundai Veloster TURBO	43.527	*0.80 6	35.082	0.179	5.899
70	2	str	81	Clarke, Taylor	Mazda Miata	41.872	*0.83 8	35.088	0.006	5.905
71	10	nss m	24	Wilcox, Mike	01 911 Turbo	39.837	*0.88 2	35.136	0.048	5.953
72	4	stu	000 0	Fergusson, Christian	Mazda Mx-5	41.699	*0.84 4	35.194	0.058	6.011
73	2	sm	10	Rumberg, Taylor	BMW 325is	40.473	*0.87 0	35.211	0.017	6.028
74	3	sm	74	Willis, Alex	Mitsubishi Evolution	40.481	*0.87 0	35.218	0.007	6.035
75	11	nes	22	Young, Benjamin	Mazda Miata 1.6L	43.861	*0.80 8	35.439	0.221	6.256
76	12	nhs	1	Mittelstaedt, Jeremy	Ford Fusion	44.648	*0.79 6	35.539	0.100	6.356
77	4	sm	36	Bassett, Henry	BMW M3	41.024	*0.87 0	35.690	0.151	6.507
78	1	smf	426	Wilmoth, Ricky	Acura Integra	41.951	*0.85 3	35.784	0.094	6.601
79	3	str	107	Cain, Brandon	Mazda Miata	42.830	*0.83 8	35.891	0.107	6.708
80	2	fp	89	Helton, Steven	BMW 325is	40.836	*0.88 0	35.935	0.044	6.752
81	13	nds	2	Parker, Jay	Subaru Legacy Wagon	44.639	*0.81 2	36.246	0.311	7.063
82	5	sm	50	Bishop, Russell	84 944	41.815	*0.87 0	36.379	0.133	7.196
83	6	sm	29	Merriman, Justin	Honda Del Sol	41.894	*0.87 0	36.447	0.068	7.264
84	14	nstu	104	White, Marcus	Nissan 350z	43.229	*0.84 4	36.485	0.038	7.302

85	1	ja	46	Rice, Tyrel	Arrow X1E B&S Lo206	41.564	*0.878	36.493	0.008	7.310
86	15	nas	11	Keidel, Ariel	Chevrolet Corvette	44.417	*0.829	36.821	0.328	7.638
87	5	hs	44	Paterson, Gordon	Ford Focus ST	46.272	*0.796	36.832	0.011	7.649
88	16	nes	28	Holloway, Jeffrey	Mazda Miata	46.280	*0.808	37.394	0.562	8.211
89	17	nsts	13	Holloway, Steven	Nissan 240sx	45.660	*0.828	37.806	0.412	8.623
90	2	smf	320	Cook, Scott	Honda HB	44.378	*0.853	37.854	0.048	8.671
91	1	xp	71	Jakupovic, Adi	BMW M3	42.715	*0.905	38.657	0.803	9.474
92	7	sm	505	Baldwin, Dan	84 944	44.687	*0.870	38.877	0.220	9.694
93	2	xp	6	Rumburg, Luke	91 Pickup	43.132	*0.905	39.034	0.157	9.851
94	5	es	34	Miklos, Lisa	Speedmiata Mazda	48.460	*0.808	39.155	0.121	9.972
95	18	nsm	291	Harrison, Aaron	Honda Del Sol	45.440	*0.870	39.532	0.377	10.349
96	3	xp	9	Rumberg, Jared	91 Pickup	45.575	*0.905	41.245	1.713	12.062
97	1	fm	701	Brown, Daniel	Red Devil F-440	169.471	*0.926	156.930	115.685	127.747
104	2	esp	40	Bryant, Tom	07 mustang	dns	*0.849			
106	3	esp	80	Bryant, Blake	07 Mustang	dns	*0.849			
108	19	n	90	Seitzinger, Talon	Subaru WRX STi	39.973	*0.000	0.000		
109	2	fm	101	Lawes, Ben	Red Devil F-440	dns	*0.926			
110	20	n	148	Walden, John	Mazda rx8	41.705	*0.000	0.000		
113	21	n	919	Ferguson, Michael	Honda Civic Si	43.585	*0.000	0.000		

Final Raw Time Results									
- autocross1 - Mon 03-30-2015									
Timed Entries: 97									
Raw Pos.	Pos .	Clas s	#	Driver	Car Model	Raw Time	Diff.	From 1st	
1	1	km	76	Churchill, James	Trackmagic TAG PRD Fireball125	34.341	0.000	0.000	
2	1	em	189	Cooley, Bernard	Fiat 600	34.662	0.321	0.321	
3	1	fp	911	Muelhaupt, Engelbert	Porsche 911	35.585	0.923	1.244	
4	1	csp	39	Aro, Tim	Mazda Miata	35.705	0.120	1.364	
5	1	stu	85	De Moraes, Ricardo	BMW M3	36.201	0.496	1.860	
6	1	stx	21	Tarabay, Houssam	Mitsubishi evolution IX	36.458	0.257	2.117	
7	1	as	45	Harrison, Robert	Chevrolet Corvette	36.527	0.069	2.186	

8	1	bs	18	Sklyarevsky, George	14 STI	36.653	0.126	2.312
9	1	hs	64	Chenery, Jeff	Honda Civic	36.663	0.010	2.322
10	1	cp	51	Inskeep, Paul	Merkur Xr4ti	36.712	0.049	2.371
11	2	cp	515	Inskeep, Pat	Merkur XR4Ti	36.803	0.091	2.462
12	1	nasp	212	Daniel, Rabie	Mitsubishi evolution IX	36.819	0.016	2.478
13	1	stf	15	Holzer, Stephen	Acura Rsx-S	37.067	0.248	2.726
14	1	cs	130	Burgh, Stuart	Porsche Boxster	37.084	0.017	2.743
15	2	cs	19	Ogburn, David	Scion Fr-S	37.145	0.061	2.804
16	2	hs	49	Carr, James	Honda Civic	37.170	0.025	2.829
17	3	hs	79	Adams, Dan	Ford Fiesta ST	37.264	0.094	2.923
18	1	asp	38	Hebert, Daniel	Mitsubishi Evolution VIII	37.299	0.035	2.958
19	4	hs	94	Hoffman, Scott	Honda Civic Si	37.446	0.147	3.105
20	1	sts	16	Krom, John	Mazda Miata	37.797	0.351	3.456
21	2	stf	115	Hinzman, Jordan	Acura Rsx-S	37.884	0.087	3.543
22	3	cs	91	Stanley, Ryan	Mazda Mx-5	37.919	0.035	3.578
23	2	stx	77	Barden, Travis	Subaru BRZ	37.935	0.016	3.594
24	2	sts	3	Peddy, John	Mazda Miata 1991	37.999	0.064	3.658
25	3	sts	26	Banks, Joseph	Mazda Miata	38.184	0.185	3.843
26	3	stx	25	Dover, Mike	Scion FRS	38.201	0.017	3.860
27	1	ssm	67	Corwin, William	Mazda Miata	38.234	0.033	3.893
28	1	es	57	Hawkins, Lonny	Miata	38.257	0.023	3.916
29	1	ssp	55	Murray, Bud	Chevrolet Corvette	38.288	0.031	3.947
30	4	nasp	211	Briesh salman, Wael	Mitsubishi evolution IX	38.384	0.096	4.043
31	3	cp	511	Inskeep, Mindy	Merkur XR4Ti	38.435	0.051	4.094
32	1	fs	83	Dechent, Jonathan	BMW M3	38.662	0.227	4.321
33	1	dsp	09	Miklos, Joseph	BMW 325is	38.958	0.296	4.617
34	4	stx	88	Nguyen, Brian (Kenny)	Scion FRS	38.964	0.006	4.623
35	1	ssr	12	Fogleman, Kevin	Chevrolet Corvette Z06	39.008	0.044	4.667
36	1	ds	33	Zacherle, Matt	09 Mini Cooper JCW	39.054	0.046	4.713
37	2	nstu	42	Danil, Assaad	BMW M3	39.256	0.202	4.915
38	2	fs	65	Thomas, Bill	Chevrolet Camaro Z-28	39.262	0.006	4.921
39	3	fs	73	Rembold, Matt	BMW 330i	39.315	0.053	4.974
40	1	ss	43	McKenney, Elizabeth	Porsche Carrera	39.335	0.020	4.994
41	4	sts	126	Banks, Sam	Mazda Miata 1990	39.590	0.255	5.249
42	2	dsp	61	Carr, Rick	Acura Integra	39.619	0.029	5.278
43	1	gs	37	Shifflett, Aaron	Hyundai Veloster Turbo	39.759	0.140	5.418
44	2	es	30	Dejarnette, John	92 Miata	39.778	0.019	5.437
45	10	nss m	24	Wilcox, Mike	01 911 Turbo	39.837	0.059	5.496
46	2	ssp	66	Harmon, John	Chevrolet Corvette Z06	39.897	0.060	5.556
47	1	sm	14	Rumberg, Owen	BMW 325is	39.907	0.010	5.566
48	19	n	90	Seitzinger, Talon	Subaru WRX STi	39.973	0.066	5.632
49	1	fsp	240	Bauske, Amanda	Volvo 245	40.033	0.060	5.692
50	9	nsm	120	Cox, Joseph	Honda S2000	40.047	0.014	5.706
51	1	esp	117	Bollhorst, Ethan	Ford Mustang Cobra	40.053	0.006	5.712
52	2	fsp	245	Bauske, Carl	Volvo 245	40.073	0.020	5.732
53	2	stu	100	Martos, Christian	BMW M3	40.337	0.264	5.996
54	2	sm	10	Rumberg, Taylor	BMW 325is	40.473	0.136	6.132
55	3	sm	74	Willis, Alex	Mitsubishi Evolution	40.481	0.008	6.140

56	5	stx	69	Morrow, Donald	Scion FRS	40.532	0.051	6.191
57	6	stx	108	Johnson, Matt	Mazda Rx-8	40.551	0.019	6.210
58	2	as	59	Cole, Dana	BMW M4	40.709	0.158	6.368
59	3	es	301	Dejarnette, Richard	92 Miata	40.770	0.061	6.429
60	3	stu	32	Bressler, Ashton	95 Miata`	40.790	0.020	6.449
61	2	fp	89	Helton, Steven	BMW 325is	40.836	0.046	6.495
62	3	fsp	434	stafford III, Glenn	Nissan Sentra SE-R	40.898	0.062	6.557
63	4	fs	272	Irving, Shane	Ford Mustang	40.901	0.003	6.560
64	4	sm	36	Bassett, Henry	BMW M3	41.024	0.123	6.683
65	7	nstu	41	Daniel, Ousama	M3 BMW	41.061	0.037	6.720
66	4	cs	99	Mcgregor, Kate	Scion FRS	41.152	0.091	6.811
67	3	ngs	31	Kemp, Daniel	Ford Focus ST	41.172	0.020	6.831
68	1	str	23	Vickery, Aaron	Honda S2k	41.449	0.277	7.108
69	1	ja	46	Rice, Tyrel	Arrow X1E B&S Lo206	41.564	0.115	7.223
70	4	stu	000 0	Fergusson, Christian	Mazda Mx-5	41.699	0.135	7.358
71	20	n	148	Walden, John	Mazda rx8	41.705	0.006	7.364
72	5	sm	50	Bishop, Russell	84 944	41.815	0.110	7.474
73	2	str	81	Clarke, Taylor	Mazda Miata	41.872	0.057	7.531
74	6	sm	29	Merriman, Justin	Honda Del Sol	41.894	0.022	7.553
75	1	smf	426	Wilmoth, Ricky	Acura Integra	41.951	0.057	7.610
76	2	gs	777	Salzman, Christopher	Hyundai Veloster TURBO	41.994	0.043	7.653
77	2	bs	7	Sponseller, Paul	Porsche Cayman	42.158	0.164	7.817
78	5	nds	47	Vemckus, Andrew	03 WRX	42.215	0.057	7.874
79	1	xp	71	Jakupovic, Adi	BMW M3	42.715	0.500	8.374
80	8	ncs	75	Durante, Nick	Infiniti G35 Coupe	42.730	0.015	8.389
81	3	str	107	Cain, Brandon	Mazda Miata	42.830	0.100	8.489
82	6	nstf	567	Screeney, James	Honda Civic	43.104	0.274	8.763
83	2	xp	6	Rumburg, Luke	91 Pickup	43.132	0.028	8.791
84	4	es	151	Banks, Susan	Mazda 99 Miata	43.197	0.065	8.856
85	14	nstu	104	White, Marcus	Nissan 350z	43.229	0.032	8.888
86	3	gs	771	Salzman, Caroline	Hyundai Veloster TURBO	43.527	0.298	9.186
87	21	n	919	Ferguson, Michael	Honda Civic Si	43.585	0.058	9.244
88	11	nes	22	Young, Benjamin	Mazda Miata 1.6L	43.861	0.276	9.520
89	2	smf	320	Cook, Scott	Honda HB	44.378	0.517	10.037
90	15	nas	11	Keidel, Ariel	Chevrolet Corvette	44.417	0.039	10.076
91	13	nds	2	Parker, Jay	Subaru Legacy Wagon	44.639	0.222	10.298
92	12	nhs	1	Mittelstaedt, Jeremy	Ford Fusion	44.648	0.009	10.307
93	7	sm	505	Baldwin, Dan	84 944	44.687	0.039	10.346
94	18	nsm	291	Harrison, Aaron	Honda Del Sol	45.440	0.753	11.099
95	3	xp	9	Rumberg, Jared	91 Pickup	45.575	0.135	11.234
96	17	nsts	13	Holloway, Steven	Nissan 240sx	45.660	0.085	11.319
97	5	hs	44	Paterson, Gordon	Ford Focus ST	46.272	0.612	11.931
98	16	nes	28	Holloway, Jeffrey	Mazda Miata	46.280	0.008	11.939
99	5	es	34	Miklos, Lisa	Speedmiata Mazda	48.460	2.180	14.119
100	1	fm	701	Brown, Daniel	Red Devil F-440	169.471	121.01 1	135.130
107	2	esp	40	Bryant, Tom	07 mustang	dns		
109	3	esp	80	Bryant, Blake	07 Mustang	dns		
111	2	fm	101	Lawes, Ben	Red Devil F-440	dns		

